T 7
http:/farbe.li.tu-berlin.de/gew0/gew0lOn1.txt /.ps only vector graphic VG; start output
see separate images of this pager//farbe.li.tu-berlin.de/gew0/gew0.htm

0,125, 250, 375, 500, 625, 750, 875, 1000 * = e =
Three, 5 and 9 colour steps for visual evaluation BIBGCKOMOw BIBtck MG6w Whigtaw - TUBLOG.U =50 109 /5Yy) +50,Yy=4, Yy =20, Yy =100
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geN00-1n, Test samples: 3, 5 and 9 colour steps, reu=0,500, expu=1,000, expa=1,000, indexLFI=7, 1MR~000LF, indexGFI=7, IMR-000GF

0, 15, 62, 140, 250, 390, 562, 765, 1000 L*TuBLOG,U =50 loglY /5Y(;) +50, Yy =4, Y(;=20, Yy =100

Three, 5 and 9 colour steps for visual evaluation BlBckiomow BiBtick Nl6w AMItataW
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Gew00-3n, Test samples: 3, 5 and 9 colour steps, gret=0,500, expu=2,000, expa=2,000, indexL Fi=7, IMR-000LF, indexGFi=7, 1MR-000GF

) ) 0,355, 500, 612, 07, 190, 566, 955, 1000
Three, 5 and 9 colour steps for visual evaluation BIBECKOMOw BIBHCK MG Wihitetew
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ow  NO2w NO6w N14w  N16w
'GBNO0-5n, Test samples: 3, 5 and 9 colour sieps, 01eu=0,500, expu=0,500, expa=0,500, IndexLFI=7, IMR-000LF, indexGFI=7. IMR-000GF.

0, 44, 125, 229, 353, 494, 649, 818, 1000 * = = = =
Three, 5 and 9 colour steps for visual evaluation BlBtCKOMow BIBHCKABGw Wiitstaw - TUBLOGU =50 10g(Y /5Yy) +50, Yy =4, Yy =20, Yiy =100
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62
QUWO0-7n, Test samples: 3, 5 and 9 colour Seps, 91eu=0,500, expU=1,500, €xpa=1,500, indexLFi=T, IMR-000LF, indexGFi=7, 1MR-000GF

TUB-test chart gewO; Linearization coti®R-000LFand Gamma (76 lines) in (1/3/5/7)n
Gamma=1, 2, 0,5, 1,5; series N-W with 3, 5, 9 steps; U: (1/3/5/7/9)n=N(08/04/12/06)w
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